CamocrosTenbpHas padoTa Mo MaTeMaTuke B 6 Kiacce

¢ nuddepeHITMPOBAHHBIMU 33/IaHUSIMHU

ITO TEMC ((I[CP’ICTBI/IH HaJ paliliOHAJIbHBIMH YHUCJIIaAMM»

1) -2,8: (-0,7)=
3) 12,6: (-6)=
5) -2,5*%(-0,4)=
1
7) 3,6%(- 6 )=
6
9) -- 7 *4)2=
1 3 1 1
1) .13 *( 4 )-Q 7 )% 3
4
1 6
13) 0,25%(- 6 )*4*(- 7 )=
=
2 1

15) -1,25%(- 7 )*8*3 2 =

17) -(-3) -9=
19) -5+19=

Kpurepuii ouenuBanus:

Ha «3»- Ne 1- 5 u Nel6-20;
Ha «4» - Ne 1- 10 u Ne 16- 20;
Ha «5» - Ne 1- 20.

2)-12,5:2,5=
4) -2,6%0,3=
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6)- '3 :3

8) -2,8: (-1 § )=

2
10) -1 5 *0,125=

12) 0,125%( -

2
14) -0,5*%( 3 )*4*(-

16)-(-2)- (-5)=

18) -7- (-5)=
20) 17-20=
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